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AP Microeconomics

Unit 5: Firm Production, Costs, and Revenue
*Question order is not consistent across assessments.

Lesson 2: Firm Production 
Quiz
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Lesson 3: Costs in the Short Run and Long Run 
Quiz
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Lesson 4: Concepts of Costs and Profit Dropbox
Sample Work – Teacher Graded




Lesson 5: Wrap-Up
Test
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Lesson 6: Firm Production Costs, and Revenue Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

Which type of business organization is subject to double taxation?

A. Corporations
B. Partnerships
C. Government corporations

D. Non-profits,

OO0 O0OO0®

E. Sole proprietorship
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+/ Question 2 1 point

Tony's parents own a dry cleaning business and Tony helps his family by working on
Saturdays. Since Tony is @ member of the family he isn't paid, but he does collect tips. In
terms of costs, how would the business categorize Tony's labor?

(O A Anaccounting cost

(O B. Afixed resource
@ c. Animplicit cost

(O . Anexplicit cost

(O E. Afamily cost
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+/ Question 3 1 point

Most profitoriented business are organized as:

(O A corporations.
(O B. nonprofit institutions.
(O c. partnerships.

/(@ D. sole proprietorships.

(O E. government corporations.
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+/ Question 4 1 point

Say Sally's Super Shoes has total revenues of $20,000, explicit costs of $15,000, and
implicit costs of $5,000. Sally should:

(O A. be happy; her economic profit is $15,000.

(O B. watch out for new competitors who will start selling shoes, attracted by her
economic profit

+/(® C. behappyto know she's eaming a normal profit and stay in business.
(O . find another job; she's earning an economic profitof zero,

(O E tell her accountant her accounting profit is zero.
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+/ Question 5 1 point

To pay for resources, a business owner must pay the resource owner at least

() A. the resource owner's explicit costs.
(O B. theresource cost.
/(@) C. the opportunity cost of the resource.
(O . the resource owner's explicit costs minus the implicit costs.

(O E the resource owner's implicit costs.
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+/ Question 6 1 point

The short-run is:

() A ayearorless.

+/ (® B. the period of time in which a firm can't change its use of fixed inputs.
() cC. uptothree years.
(O . the period of time in which the production level can' be changed.

(O E. the period of time in which a firm can vary its rate of output.
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+/ Question7 1 point

The economic profit of a firm includes the opportunity costs of all resources used in
production. What do these opportunity costs measure?

(O A The growth of the firm over time

/@ B. The value of resources at their best altemative use
(O c. Explicit costs
(O D. The amount of profit earned,

(O E. The economic condition of the firm, by listing everything the firm owns
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+/ Question 8 1 point

The units of variable input (let's use labor in this case) in a production process are 1,2,3,
4,and 5. The corresponding total outputs are 8, 16, 24, 31, and 37, respectively. The
marginal product for the fourth unit is:

O as
[OR:-X1
v@®ec7
(O .36
QOEes
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+/ Question 9 1 point ~

Consider the following units of variable input-1, 2, 3, 4, and 5-and the corresponding
total outputs are 8, 16, 24, 31, and 36, respectively. At what point do diminishing marginal
retums set in?

(O A second unit of input
(O 8. third unit of input
O c. fifth unit of input
(O . firstunit of input

/(@ E. fourth unit of input
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+/ Question 10 1 point

Which type of business organization has the greatest volume of sales in the United
States?

(O A Proprietorship

() B. Partnership

() €. Theyall have about the same volume of sales
(O D. Nonprofit

(@ E. Corporation
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+/ Question 1 1 point ~

When a firm has sufficient time to adjust the size of its plant, how wil it decide which
plant size to select?

/@ A Itwill select the plant size with the lowest short-run average-totakcost curve
at the desired output level

B. It will select the plant size with the highest short-run average-totak-cost curve
at the desired output level.

C. It will select the plant size with the largest short-run average-total-cost curve
atthe desired output level

(O D ttwill select the largest building that's currently avalable to lease

(O E Itwill select the building closest to its owners in order to reduce commute
time.
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+/ Question 2 1 point

Longrun diseconomies of scale exist when the:

(O A longerun marginal cost curve rises.

(O B. short-run average variable cost curve rises.
/(@ C. long-run average cost curve rises.

() D. long-un average total cost curve falls

() E. short-run average total cost curve falls.
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+/ Question 3 1 point

When the marginal product is falling, marginal costs are ___ and the average fixed costs

are

O A falling; decreasing
() B. falling; increasing
(@ C. rising; decreasing
(O D. rising;increasing

(O E- None of the above
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Fillin the following table (using scratch paper) and then answer the question below.

o 100 o 100
1 100 30 130
2 55

B 170
4 195
5 125

The marginal cost for producing 5 outputs is:

O A 225
v@® B30

e}
O p.12s
e}
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+/ Question 5 1 point

Afirmis long-run average-cost curve, also called its long-run planning curve, is
constructed from:

() A. the points of tangency of the long-run average total cost curves.

(O B. the points of tangency of the long-run marginal cost curves.

(O C. the points of tangency of the long-run average fixed cost curves.
/(8 D. The points of tangency of the short-run average total cost curves.

(O E Allofthe above
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+/ Question 6 1 point

f the marginal costis __ the average cost, then the average cost i

/(@) A. greater than; rising
() B. greater than; falling
(O C. less than; ising
() . equal;rising

() E. None of the above




image17.png
+/ Question 7 1 point

The point of diminishing returns occurs when.

() A. the average-fixed-cost curve has reached its lowest point.
(O B the marginak-product curve has reached its lowest point.

(O C. thetotal-cost curve has reached its highest point

() D. the average-variable-cost curve has reached its highest point.

/@ E. the marginakcost curve has reached its lowest point
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+/ Question 8 1 point

The minimum efficient scale is the output level at which a firmis average total costs are
minimized. At what point on a graph does a firm achieve the minimum efficient scale?

+/(® A. Atthe point at which the firm moves from economies of scale to constant
returns to scale

(O B. Atany point at which the firm is experiencing constant returns to scale
(O c. Atany point at which the firm is experiencing economies of scale
(O D. Atany point at which the firm is experiencing diseconomies of scale

(O E. Atthe point at which the firm moves from constant retums to scale to
diseconomies of scale
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Monique has started a business framing photographs. She wants to understand the
different costs associated with production. Given the following information about the

rate of output and total costs, help Monique find the average total cost for producing the

fourth frame.

o s20
522
526
28
$32
$38

EIES Ry

O A 520
v@® B %8
O c s32
(O D.s28
O E s
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+/ Question 10 1 point ~

Given the information in the table below, at what point do diminishing returns begin to be
seen?

5 5
10 4
15 3
20 5
25 B
30 10
35 12
[40 15

(O A 30 units of output

(© B. Sunits of output

(O €. 10 units of output
/(® D. 20units of output

(O E. 40units of output
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+/ Question 1 3 points

Which factor of production is almost never included in a firms fixed costs?

O A Land
(@ B. Labor
(O c. capital
(O D. Allof the above.

() E. None of the above.
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+/ Question 2 3 points

Decreasing marginal returns means:

() A total costis decreasing.
(O B. as more production oceurs, costs are unchanged

/(@ C. asmore production oceurs, the cost of producing more increases.
(O D. as more production occurs, the cost of producing more decreases.

() E. marginal cost is decreasing
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+/ Question 3 3 points

Marginal cost is equal to average variable cost when:

(O A total costis at its minimum.

() B. average total cost s at its minimum.

() C. average total cost s at its maximum.
/(@ D. average variable cost is at its minimum.

(O E. total cost s at its maximum.
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+/ Question 4 3 points

When a manager determines how much of a factor of production a firm should use, she.
should look at the:

®@ OO0 OO0

average product of the factor.
price of the factor.

marginal product of the factor.

average product of the factor and its price.

marginal product of the factor and its price.




image25.png
+/ Question 5 3 points

Opportunity costs are included in (pick the best answer):

(O A always implicit costs and sometimes explicit costs.
/@ B. bothimplicit and explicit costs.

(O c. justimplicit costs.
D. just explicit costs.

E. always explicit costs and sometimes implicit costs.
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+/ Question 6 3 points ~

Which of the following i the correct relationship between fixed, variable, and total costs?

A AFC+AVC=TC

B. FC+VC=ATC
O ¢ AFc+ve=ATC

v@® b Forve=Te

O E Fesavc= AT
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+/ Question 7 3 points

Economic profit is:

A. total revenue minus accounting costs and normal costs.

B. total revenue minus implicit costs.

O O O

C. identical to accounting profit
/(@ D. total revenue minus explicit and implicit costs.

(O E. total revenue minus explicit costs.
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+/ Question 8 3 points

Which of the following is not an explicit cost for the owner of a clothing retail store?

() A. Taxpayments to the government
() B. Fees for accountant

(O C. Rentonthe retail space

() D. Wages for employees.

/(@ E. Time the owner spends working
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+/ Question 9 3 points

f a business eams a normal profit, that means:

(O A the business is making money.
+/ (® B. economic profit is zero.
(O €. accounting profitis zero.
(O . the business is just covering its explicit costs,

(O E. the business is just covering its implicit costs
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+/ Question 10 3 points

When marginal costs decrease:

A, the firm experiences decreasing returns to scale.
B. average fixed costs increase,

C. total costs decrease

D. the firm experiences increasing returs to scale.

E. average variable costs are negaive.
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+/ Question 11 3 points

Marginal product is:

(O A the additional input needed to get one more unit of output.
/(@ B. the additional output created using one more unit of input.

() C. the average input needed to get some level of output.

() D. the average output created by each unit of input.

(O E None of these.
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+/ Question 12 3 points

When marginal product equals zero:

/(@ A. total product is at its maximum.
() B. average product equals zero.
(O C. average product is at its maximum.
(O D. average product is at its minimum.

(O E. total product s at its minimum
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/ Question 13 3 points ~

One difference between a partnership and a corporation is:

O A
O 8
Oec

O o
v® E

the owners of a corporation have no say in the firmis policies, but the owners
of a partnership do.

the owners of a corporation can be held liable for the firmis debts, but the
owners of a partnership cannot.

the owners of a partnership have no say in the firmis policies, but the owners
of a corporation do.

2 corporation can be owned by more than two people.

the owners of a partnership can be held liable for the firms debts, but
owners of a corporation cannot.
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+/ Question 14 3 points

In an industry with few economies of scale, there will be:

() A afewverylarge firms
() B. many very large firms

O ¢ nofirms atall
/(@ D. many very small firms.

() E. afewvery small firms.




image35.png
+/ Question 15 3 points ~

If you draw a long run ATC curve:

O A

v@® B

the long-run total cost curve will run through the minimum of each short-run
ATC curve.

the long-run average total cost curve will show the minimum ATC for each
level of production.

The long-run average total cost curve will un through the maximum of each
shortrun ATC curve.

the long-run average total cost curve wil show the maximum ATC for each
level of production.

the long-run ATC curve will run through the minimurm of each short-run ATC.
curve.
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+/ Question 16 3 points ~

Which of the following is the most accurate statement about a firm?

(O A. Types of firms are limited to sole propristorships, partnerships, and
corporations.

(O B. Afirmis defined as a legal entity that trades shares of stock on the stock
market,

/(@ c. Afirm buys factors of production in the factor market and coordinates their
use to produce goods and services for the product market.

(O D. Types of firms arelimited to sole proprietorships, partnerships, corporations,
and nonprofits.

() E. Afirmis not something that can be defined or characterized.
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+/ Question 17 3 points

The average product is:

(O A the additional input needed to get one more unit of output.

(O B. the additional output created using one more unit of input.

() C. the average input needed to get some level of output.
/(@ D. the average output created by each unit of input.

() E. None of the these.
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+/ Question 18 3 points

As a firm gets larger, economies of scale come from all the following except:

A, better access to loans for purchases of additional capital goods.
B. information and technology sharing within a firm.

O ¢ specialization within a firm.
+/ (® D. bureaucracy increasing within by the firm.

(O E bulkdiscounts on large purchases of inputs by the firm
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+/ Question 19 3 points

If a firm eams zero economic profit it earns:

O A more than a normal profit
(O B. less than zero accounting profit.

/@ c. anormal profit
(O . zero accounting profit

(O E. less than a normal profit
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+/ Question 20 3 points

Inthe short run, as production increases:

() A. fixed costs remain constant, but average fixed costs increase.

/(@) B. fixed costs remain constant, but average fixed costs decrease.
(O . fixed costs decrease, but average fixed costs remain constant
() D. both fixed costs and average fixed costs remain constant.

(O E. fixed costs decrease, but average fixed costs increase.
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+/ Question 21 3 points

Inthe long run.

(O A afirmmust eam positive economic profit to continue to exist.
/(8 B. thelevel of every input a firm uses can be adjusted.

(O . thefirm chooses to minimize costs rather than maximize profits.

() D. the firm faces the same choices it faces in the short run

(O E- afirm must earn an accounting profit to continue to exist.
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+/ Question 22 3 points

In general, a firm will experience increasing marginal returns:

A. forits whole range of output possibilites.
B. whenitis part of a huge industry.

(O C. whenitis part of a small industry.
/(@ D. onlow levels of output.

(O E. onhigh levels of output.
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+/ Question 23 3 points

The U.S. government owns the U.S. Postal Service. The Postal Service is:

/(@ A agovemment organization.
() B. notatype of business.
(O . anonprofit organization.
(O D. apartnership.

(O E acorporation.
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+/ Question 24 3 points

Marginal cost is equal to average total cost when:

() A. average variable cost is at its minimum.
/(8 B. average total cost s at its minimum.
C. total cost is at its maximum.

D. total cost is at its minimum.

O O O

E. average total cost s at its maximum
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/ Question 25 3 points ~

One difference between a partnership and a sole proprietorship is:

2 partnership can be owned by more than one person.

the owners of a partnership can be held liable for the firmis debts, but
owners of a sole proprietorship cannot.

the owners of a sole proprietorship have no say in the firm's policies, but the
owners of a partnership do.

the owners of a sole proprietorship can be held liable for the firm's debts, but
the owners of a partnership cannot.

the owners of a partnership have no say in the firmis policies, but the owners
of a sole proprietorship do
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+/ Question 26 3 points

Which of the following is a cause of diseconomies of scale?

(O A Information and technology sharing within a firm
(O B. Specialization within a firm
() . High salaries the heads of large corporations eam
/@ D. Workers'feelings of alienation, or separation, from the company

() E. Poor quality managers
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/ Question 27 3 points

Increasing marginal returns means that:

O ® OO0

A. decreases in output cause ever greater decreases in inputs.
B. increases in output cause ever greater increases in inputs
C. decreases in inputs cause ever greater increases in outputs.
D. increases in inputs cause ever greater increases in output

E. decreases in output cause ever greater increases in inputs.
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+/ Question 28 3 points

Which of the following is an impossible combination?

(O A Positive accounting profit and a normal profit

(O B. Positive accounting profit and negative economic profit

(O €. Negative accounting profit and negative economic profit
+/(® D. Negative accounting profit and positive economic profit

(O E. Positive accounting profit and positive economic profit
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+/ Question 29 3 points

Which of the following industries is likely to have great economies of scale?

A. Specialty pastry industry, creators of eclairs and napoleons
B. Upscale restaurant industry, makers of gourmet French food
C. Artindustry, creators of pencil sketches and clay sculptures

D. Dry cleaning industry, cleaners of fine clothing

®@ OO0 0O

E. Aerospace industry, builders of airplanes
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+/ Question 30 3 points

The short run means:

O A lessthanamonth
() B. lessthanayear
O cC. less thana week.

/@ D. the period during which the use of some inputs into production can be
altered.

(O E. the period during which the use of allinputs into production can be altered.
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